@
BeitTg wreAties fren wuse wauT g it

STRITRNR TS
20242258

y —

ARV AV |7 (TAAY

N AN NN

BT (CLASS) - 12
% (AGRICULTURE)



ATHATUTRT (INDEX)

Y o o ded Ta Tiord 3

Elements and Mathematics of Agricultural

Science

el 3cTed Ud 3 I 22

Crop Production and Horticulture

SIUTCH, T STEITTeRT, Heedl U Fefhe UTer 47
Animal Husbandry, Dairy Technology,
Fisheries and Poultry

Y (e HE) 76

Agricultural



Y ST o T T Tiord

Elements and Mathematics of

Agricultural Science

Ale ;& AT 3 & TR & IT 1T |

Write the answer according to the marks allotted to the question.

TS - 1

(GRENERE)
(Short Answer Type Questions)

A -1 ddfaeh o ATTE Ween § 3 forRay [4]
Write the difference between real and virtual spectrum.

TH -2 THRI o ] @1 ST § Eaiferd ST st foree fag e o [4]
srehTeT veft X T R 2

Write and prove through an experiment related to the rectilinear

propagation of light that light travels in a straight line.

-3 ek ot ot foreigur St st R wag 1 fefay) [4]
Briefly explain the phenomenon of dispersion of light.

T -4 ER T forrd TR Sk 8 aTel |HTRT Ffehal bl fetiag [4]

List the common devices used in electrical fittings in homes.



(7Y T T2)
(Short Answer Type Questions)

TAq-5

THT-6

AT -7

T8

TT-9

T GeweRit # foror o1 ue fommse qur At emar hi g [3+2=5]
fafe)

Draw the ray diagram of a simple microscope and write

the formula for magnification.

3 o e sht afeart wfordte g o forera alwy 1 o [2+142=5]
SI=RU |

Define Ohm's law, mathematical formula and draw a

diagram of the electrical circuit.

ferelel sfeT Tt o 1T feifay wef forst sTse | [3+2=5]

Write the properties of electric force lines and draw their

diagram.

TSI Ue AU 3h1 Bl okl |ie forfiau) [2.5+2.5=5]
Write and illustrate the events of lunar and solar eclipses.

Torell =rTeter oAt wiarer S ufEfda grar 82 wem 1 fafag) [5]

Write in brief, how the resistance of a conductor changes?



(e ST u2)
(Long Answer Type Questions)

AT -10

oA -11

TAq-12

TAq-13

oA -14

ISHT(shT o T 3w @ weiferd diAn st ol fafgq) [2+42+42=6]
Write three applications related to the first law of

thermodynamics.

YSRTST sh! GUEd shl T2AT qUT Jah1ST & SIFT Jehil ol Ui [4+2=6]

QS

Describe the phenomenon of reflection of light and both

type of it.
e o fevaoft feTRae- [2+2+2=6]
(37) BRI () ST GIELES

Write short note on the Following -

(a) Shadow (b) Penumbra (c) Spectrum

i T feeot it - [2+2+2=6]
(37) FhT (@) & (%) fergrerad)

Write short note on "Lens" -

(a) Types (b) Formula (c) Characteristics

SRTRT forgd &t o 39anT fafan) (15 6) [1X6=6]

Write the uses of photovoltaic cells. (Any 6)



ECO I ||
(TS T9)

(Objective Type Questions)
TH -1 TUS - (37) wet freren g ferfag -

Part — (A) Choose and write the correct option :

(i)  Te shl GATSTRAT BT 2-
CONS
) 3
Carbon's valency is-
(@ 1
(c) 3
(ii) T T STIEA & -
(¥ C,H,

(H) C2H6

The molecular formula of ethylene is-

@) CyHy

©  C,H,
(ifi) =Y T SUEA 3 -

() C,oH,

#)  C,H,

The molecular formula of Butane is -

(@) CaH,

(©) C,H,

C))
()

(b)
(d)

()
()

(b)
(d)

()
)

(b)
(d)

2
4

C2H8
CsHyo

C2Hg
CSHIO

C4Hg

CsHy,.

C4Hg

CSHIO'

[1]

[1]



o~

(iv) fFvam o forare - [1]

(37) ST (F) ST

() ok (@) SUE H Y HIE T
Fermentation 1s a process of -

(a) exothermic (b) endothermic

(c) reversible (d) none of the above

(v) lq\aélawaqgrag%- [1]

(30 CegH120¢ (%) CeH,,06

() CeH120; (%) CsH1206

The molecular formula of glucose is-
(a) CegH120¢ (b) CeH,,06

(¢)  CgH120; (d)  C;H1206

TH -1 @UE - () e Tamt 6t gfd Hife
Part — (B) Fill in the blanks :
(i) Toret forerat <t i ftet St § geft gS ver hr am H AT 3W  [1]
[EIRPEED FHecATd &l

The amount of dissolved substance in grams per liter of a

solution 1s called of the solution
(i) Aforet gz R Afver AEERARES o guEEar urt (1]
STl Rl

Methyl cyanide and Methyl isocyanide exhibit

isomerism.



(iii)

(iv)

v)

(Vi)

A o ATHTIUTR foreta shl HeTIdr § ST g fohell & ok
foreTr <t "igdr J1d o <kl fafr ot Fed =l

The method of finding the concentration of a solution of an

alkali by titration with the help of a standard solution of an
acid is called

&I 3T UV = &1L T Jediehl A x

The Molecular weight of alkali = Equivalent weight of alkali

3 AifireR ek ST @A R, oig o B R
A Bl

Compounds that have the same molecular formula but

different properties are called
e o IERIEERIBISICIR

Lemon contain vitamin.

TH-1 WUS - (A) G AIST IS ;
Part — (C) Match the Columns:

(@)
(i1)
(ii1)
(iv)
)
(Vi)
(vii)
(vii)
(x1)

WY 'H Wy
RTSSIFATh 3TFA (37) ITEH TSI
foerfim E vt & (&) CH,

IFIIST T T @) HCl

Tk (@) diferefia

Teeh (3) WqH TESREH
LINEI] (%) W

ERNIESU (&) H,S0,

AR 3R (F) Tt AT

foarfiim A fr o () ST

[1]



Column 'A'

Column 'B'

(1) Hydrochloric acid (a) unsaturated hydrocarbon
(1i1)) Deficiency of (b)) c» 4
Vitamin E
(i11) Source of lactose (c) HCI
(iv) Alkane (d) Polyethylene
(v) Alkene (e) Saturated hydrocarbon
(vi) Marsh gas (H) Milk
(vil) Polymerization (2) H,S0,
(vil) Sulfuric acid (h) Night blindness
(ix) Deficiency of (1) Reproductive disease
Vitamin A
(GRERURRE))
(Short Answer Type Questions)
TH-2 T ok S fRaw)
Write Uses of Gobar Gas.
TH-3 RS bl G faRam)
Write definition of Hydrocarbon.
-4 Ucehige ohT JTeh{UT fARgT|
Write Classification of Alcohol.
TH-5 ST e i o ok g ffeg
Write Formula for Calculation of Volumetric Analysis.
T - 6 Herhi o A Ty
Write the names of Indicators.
TH-7  HISHTES I S fafay

Write molecular formula of Carbamide.

9
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SE_8 e e T fefay
Write physical properties of Urea.
TH-9 U % 39N ey
Write uses of Acetylene.
TH-10  forvad o 3 fafly
Write uses of Fermentation.
TH- 11 ierdr s a fdiag)
Write formula for Normality.
(FTe 3T T)

(Long Answer Type Questions)

A - 12

TAq-13

oA - 14

A - 15

aAq-16

wHifecla s it yrnfires fofér st fomr afea d@fem § fafag

Write briefly the laboratory method of making acetylene
along with diagram.

MR N G333 o1 fo st geig | feafigy)

Draw and briefly describe a Gobar Gas plant.

foRUe T &7 Ik [T 31ehet aiReerferlt s ferRag)

What is fermentation? Write the favorable conditions for

it.

FISTEISSS T 87 ek JiiehiuT feTflan)

What is carbohydrate? Write its classification.
SRINTITEAT § T ¥ S41d &2 foaRau) (&ieror ard)

Write, how to prepare ethane in the laboratory. (with

equation)

10

2]

2]

2]

2]

[2+4=6]

[3+3=6]

[2+4=6]

[2+4=6]



gahTe — 111

(3t o1 T o)

(Very Short Answer Type Questions)

aq-1

TH -2

aq-3

T -4

TAq-5

T JATRR HaH | IR 176 HieT 7, A1 3Teh! BSaT J1d hiloq|
A circular field has a circumference of 176 meters. Find its radius.
Teh T[T o 19 12 S U Sers 8 6t 7, T &t 1 Shifory]

The base of a triangle is 12 cm and its height is 8 cm. Find its area.

T, FHEYST o ST o W o forerul 40 Heiet 37t 80 HtHTe 8

ST A% FTd hIFST)

The diagonals of a rhombus shaped field are 40 cm and 80 cm. Find

its area.

HHTg St ol T ST oh <lalTs 16 T 21 IHHT &t J1d hiTsT|

The length of one side of an equilateral triangle is 16 cm. Find its

arca.
I T ATE 6 HIeT T AT I T &% J1d hITSIT)

If the diameter of the circle is 6 meters, find the area of the circle.

11
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G ELMERE))

(Long Answer Type Questions)

g -6 Fmfaigd arof | sgeres J1d Sifs-
Bl 0-7 7-14 1421 | 21-28 | 28-35 | 0-7
SRARAT |19 25 36 70 51 19
Find the mode from the following table-
Class 0-7 7-14 14-21 21-28 28-35 0-7
Frequency | 19 25 36 70 51 19
TH -7 T AR § Sgeteh J1d shifSTe-
at 0-15 15-30 30-45 45-60 60-75
SICI] 2 3 5 10
Find the mode from the following table-
Class 0-15 15-30 30-45 45-60 60-75
Frequency 2 3 5 10 7
ax-8 fFfcafigd ol @ sgere Fa -
aT 30-35 25-30 20-25 15-20 10-15 0-5
SRERAT 4 8 12 16 6 4
Find the mode from the following table-
Class 30-35 | 25-30 | 20-25 15-20 10-15 0-5
Frequency 4 8 12 16 6 4

12

[4]

[4]

[4]



TT-9

T — 10 | AIGU shl Toh THTE ohl HSTgdl &1 H <1 175 © §75h HITEhT ST shifoiT-

oA -11

T -12

= gt @ gHiaT Ay 31a Fifsre-

Find the median of following table-

BILIER
13 14 15 16 17
Score
T
19 5 7 9 8
Number

60,63,44,33,61,48,51
The wages of seven workers for a week are given in terms of rupees.

Find their median-

60,63,44,33,61,48,51

frferfaa foreat o STeient o fofq I 3T sHTET-

[ELRI fet IS HY TTfoT

<

NIEIED 60 70 80 90

Draw a pie chat for the scores of the following subjects-

Subject Hindi English Agriculture Maths

Score 60 70 80 90

o

[ SATehei shl ST gyt =t g fewse-

c

T 0-10 | 10-20 | 20-30 | 30-40 | 40-50 | 50-60

g 10 18 35 30 20 12

Draw the following data through a frequency polygon diagram-

score 0-10 | 10-20 | 20-30 | 30-40 40-50 50-60

Numbers 10 18 35 30 20 12

13
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[4]

[4]

[4]



g — 13 1 gt & aiak 9re 9 hifse-

Find the arithmetic mean from the following table-

e
0-10 10-20 20-30 30-40 40-50
Class
TRERAT
2 10 6 4 6
Frequency

A — 14 I+ 9ROl 9 g9iaT 77 8 91y fora 3id hifsre-

Find the standard deviation from the arithmetic mean using the

following table-
Eul
2 6 8 10 12 14 16
Class
ST
4 5 15 8 5 4 5
Frequency

14

[5]

[5]



ECTER Y

(FEqE o)

(Objective Type Questions)

TH-1 TS - (37) Tt forehew e ferfarg
Part — (A) Choose and write the correct option :

(i) ey gfg i FRifa war e -

(37) UGy BHH @) "

(®) T @) forerfi
Controls plant growth-

(a) Plant hormones (b) Protein
(c) Enzymes (d) Vitamins

(ii) TR T 3T 2-

(3T IAA @) IBA
@) 24 @) STE el
The example of auxin is:-

(a) TAA (b) IBA

(c) 2-4D (d) All above

15



(iv)

v)

(37) T @ st
@ T G
“Zein” protein is found in-

(a) Maize (b) Barley
(c) Wheat (d) Paddy

JoREITeT TS ST & -

(37) Wi @)

(@) TTeH! @) e
Stamen tube is found in-

(a)  Solanaceae (b) Cruciferae

(b) Malvaceae (d) Papilionaceae

Br or Ebr @ ' Ks,Cis)As),Go) TTEA R -

(37) Wit @)

(@) TTeH! @) e
Br or Ebr @ Q’ K5),C5)A(s5),G() 18 floral formula of-

(a)  Solanaceae (b) Cruciferae

(b) Malvaceae (d) Papilionaceae



TA-1 e — () fiem v 6 afd Fifg -
Part — (B) Fill in the blanks :

(1)

(i)

(iii)

(iv)

(V)

(vi)

(vii)

(viii)

foret a1 ATrEdferes A H

The botanical name of chili is

RIKCREIRTY %l | BT 2l
The silique fruit belongs to the family.
TyhTRir SATIfSRAT FATifthet o | el 2

The photochemical reaction of photosynthesis occurs in the

IBA 31 U 18 ?|

The full form of IBA is

HTeelt GHT H TSRl o Tk S W T okt 0T
BT g

In aerobic respiration, from one molecule of

glucose, ATP are produced.

ST FET | foReTl SheTRT SAsil Icq BId g

In aerobic respiration, kilocalories of energy

are produced

ERUECECUR G EEd R I
By polyploidy, wheat was developed.
sfisT T Bl oAt IcdTe deh-Tehl ¥ BT

The production of seedless fruits is achieved through

technique.

[1]

[1]

[1]

[1]

[1]

[1]

[1]

[1]



(3t o1 3T o)

(Very Short Answer Type Questions)

A -2

aq-3

T -4

A -5

TT-6

aq-7

Tq-8

TT-9

JeqTE T 82

What is mutation?

T T T 82

What is test cross?

TR 3T o a1 3aTeeT fefa

Write two examples of cruciferous family.
FEIH A % T T 1Y

Draw the floral diagram of Cruciferae family.
HITET e o 0 G S5

Draw the floral diagram of Malvaceae family.

STeHHH HeRTUT T 27

What is reciprocal cross?

TIOTCT ST T 22

What is polyploidy breeding?
TRTST HSHHOT hl THTTId T ATt ShIehl o ATH foTRaU)

Name the factors that affect photosynthesis.

18
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AT -10

oA -11

TAq-12

oA -13

oA -14

oA -15

TA-16

fSrertfer o SwmT qur e fafiau | [4]
Write the uses and functions of Gibberellin.

SIEIEKRINSCUGER R IR IRC L [4]
Write the difference between Auxin and Gibberellin.

iy 35 e S e S v forf 4]
Write the utility of Biotechnology in Agriculture.

qTeT FN S &8 | 3t fafay [4]

Write the difference between plant and animal respiration.

= Mg & et Tm fafe - [1X4=4]
FEH (@) F (@) T (3) aH
Write Botanical names of the following plants.

(a) Brinjal (b) Datura (c) Cabbage (d) Paddy.

AT 3t o ohis =X farfre e fetfem [1X4=4]

Write any four specific characteristics of the Malvaceae family

FHETULT 3t o g TR [1RTE evT forfay) [1X4=4]

Write any four specific characteristics of the cruciferae family.



ECIERY

(FEqE o)

(Objective Type Questions)

aH -1 o v i fd Fif

Fill in the blanks:
() wymeeiuh_ el [1]
The honey beeisa  insect.
(i) Freearer e s Sfaq-=s & ur S gl [1]
The Nymph stage isfoundinthe ~~ life cycle of an insect.
(i) VST HFIAMEREFHE  F [1]

The beneficial insect of the Lepidoptera order is

(iv) THiogneeimsg@sE_ 2 [1]
The main function of the queen Honey bee is

(v) EIHL Rt T G T g [1]
Laccifer lacca is the common name of

(vii) dewemd TUg B & [1]
Insect head consists of segments.

20



(3t o1 3T o)
(Very Short Answer Type Questions)

TA -2 & Gk fay o 3eTetyr fetfau | [1X2=2]

Write two examples of contact poisons.

TH -3 G k1 "o faafgu |

Write composition of Lac.

TH— 4 IES & Goe fafgy |

Write composition of honey.

TH -5 IR AR ok ToRAT T ST 82

What is the action of killing the pupa called?

(@rd 3T T9)
(Long Answer Type Questions)

TH-6 TG hie 0 e H for-fopT STareema il € gt Tordl 22 H&rd |
ferfe |
What are the stages that Lac insect goes through in its life cycle?
Write in brief.

TH -7 hic FEET A fafert sl e § faRau |
Write in brief the methods of insect control.

TH-8  HYHRHT hl STGY HATHIH! hl waw H ferflan

Briefly describe the external morphology of Honey bee.

21
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Tl IcUTe U 3T I

Crop Production and Horticulture

Ie . FH T TSI FHeF & HTER & IH 171 |

Write the answer according to the marks allotted to the question.

(FEIE o)

TS - 1

(Objective Type Questions)
TH -1 & forehed It Tt :

Choose and write the correct option :

(1)

(i)

ST AT % T & Sl Rl = g1 et 22
CIESERE CIIRICIEREE R
(@) e Sl framiiadr i (3) 3k |+t

What harm does a drop in soil temperature cause to crops?

(a) inseed germination (b) in the growth of plants

(c) 1in activity of (d) all of the above
microorganism

e et e ) Py -

CORCERES () srerft et

@) Trl Tiferat () TH-ITIT TTfeAat

The method of underground water drainage is -

(a) Tile drains (b) Temporary drains

(c) Permanent drains (d) Cut-out drains

22



(i) TETT S Fiemra <t fafer & -

(iv)

(37) Terft Arferat (@) WA
(®) oG @) "I
The methods of surface water drainage is -

(a) Temporary drains (b) Stone drains
(c) Pole drains (d) Mole drains
e rferat st 2t 2-

(31) e @ fgt

(®) FHIe @) TR

Pole drains are made of -

(a) Cement (b) Soail

(c) Concrete (d) Wood

(v) T &T07 shT hH WHTEAT T&et © -

(3) et Frferat (@) TFASH
(@) uTEd g (@) HAgH
The chances of soil erosion are low in -

(a) Temporary drains (b) Tile drains

(c) Pipe drains (d) Mole drains

[1]

[1]



GRERMERE)

(Short Answer Type Questions)

A -2

aq-3

T -4

A -5

TT-6

Qi § ST TR sl 3TTaI9TendT o1 2idl 27

Why is drainage necessary in fields?

AT Rl Wied 99 foR SITAT AT ST TEHT <iEu?

What things should be considered while digging drains?
siferTer STt f-repr <At forferat =i wiei  ferfy)

Write briefly about the methods of underground water drainage.

TET Se fHehtd ot fafert ot daid § fafam)

Write briefly about the methods of surface water drainage.

SIS THehTH 3T H&T U HEal I I feIRaw|

Write the impact of water drainage on soil and crops.

24

[4]



(TS T9)

IR ||

(Objective Type Questions)
TA -1 ek i g HT

Fill in the blanks :
(i) TeHIATHEIE  FEIA R
The length of Gunters chainis ~ feet.
(i) =T dficdas Hed el
The length of Engineers chainis ~ feet.
(i) WIARTE_ Fe I
The length of Revenue chainis ~ feet.
(iv) W@ITHRITIE  HI R R
The length of Metre chainis ~ feet.
(v) = A Wt i g d e e sk fog _ ewr s
[ERISIGIN

To draw a perpendicular from any point on a chain line,

1s used.

25
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[1]

[1]

[1]

[1]



A -2

T3

Tq -4

TAq-5

TT-6

U= S 0.4 feieh BIT 2, 360 a1 Tl o siter A7t 18 gl 1248 feieh  [4]
& 1 7t g F1d shifery|
A Gunter chain that is 0.4 links shorter, The measured distance

between two points is 1248 links. Find the actual distance.
820 ThIZ 2l U SRR =+ & AT 7S, <I1e § ATeH gATH = 3§ HA  [4]
ﬁﬁqﬁﬁaﬁaﬁ YA TS J1d IS

The distance of 820 feet was measured using an engineer's chain.
Later, it was found that the chain was 3 inches short then find the
actual length of the measured distance.

q e S fafay 4]
Write objectives of land surveying.

S i T A 2 fafa) [4]
Write defects found in a chain.

I ST TSET0T Shi hls FTEaY AT fIiay) [4]

Write precautions for surveying with a chain.



(FEqE o)

(Objective Type Questions)

g -1\ foehew ge ferfta

Choose and write the correct option :

(i)

(i)

(iii)

(iv)

Teha I BITEN 8-

(37) TR (=) ferrgd

(&) IIEa (3) TTH & I el
Annual weed is-

(a) Makoy (b) Hirankhuri
(c) Vaayusuri (d) None of them

Ffe g sht = €Y .2260 shi o | foreT e 18 3ht 3 Y. 262 St
T YT 3T 3T T 39 e <l
If a plant of the wheat variety UP 262 grows in a crop of wheat

variety HD 2260, it is called

T TR ST 0T THR e, e, T  USHH 8 L 8, 36
ed @l
Weeds that propagate through their growth from nuts, bulbs,

tubers, and rhizomes are called

FOUTIeT oA ST-Egfeh T H

The scientific name of Krishnneel 1s

27



)

(vi)

(vii)

(viii)

(ix)

()

(xi)

(xii)

AT T LI T H

The scientific name of Bathua is

3‘IH(®|Q’1W°II"NMR‘I°I’) 14 %|

The scientific name of Amarbel 1s

ERRISEIEIESIRER I H

The scientific name of Doob Grass is

ST STATS T AT ek TH 2

The scientific name of Junglee Chaulai is

H(‘Q‘ll"ll-‘élhlwoll"l'{‘q{(\‘lol') 14 %|

The scientific name of Satyanaashi is

CHE) 1 T & BT Bl

Khaira disease is caused due to deficiency of
24-3 AR

24-Dis __ herbicide.

Eimec ks D

BHC is



A -2

T3

a9 - 4

TAq-5

TT-6

Tler TLETUT EaTAY ST TN Shid THY €T < I grarefa fafag) [6]

Write the precautions to be taken while using plant protection

chemicals.

et § T okt 0T o6 o s ©: U i feffay) [1X6=6]

Write any six methods to control plant diseases.

EAAAATITT o ST ohl AT STAEATAN ohl HEIT H ITEL0T dfed [3X2=6]
fefam)

Write the three stages of herbicide application briefly, with

examples.

Tqaa T Y =ifer fafer 1 wew o fafay) (@91 6) [1X6=6]

Write in brief the mechanical method of weed control briefly.
(Any 6)
ehie T=iaroT <At itfereh Toer sl e STkt # forfae- [3X2=6]

(37) @TE @ieT
() 9 T JANT AT
(@) faferer Sftam STaermsn &t uehs T

Write the physical method of pest control under the following
headings:

(a) Digging trenches

(b) Using traps

(c) Collecting various life stages



(TS T9)

ECTER Y

(Objective Type Questions)

T -1 Tes Tamt i gid ik
Fill in the blanks :

(i)

(i)

(iii)

(iv)

)

(Vi)

(vii)

(vii)

T -STAHT - U - 1 Y T HHA =5h 2
Paddy- Linseed - Cotton - Chickpea is year crop rotation.
SN - 384 - 3L Y hT A TIsh hT 3G B

Sorghum-Black Gram-Pigeon Pea 1is an example of
year crop rotation.

I AT ST G5 T TR HE <k 2] 4T TRy

While preparing a cropping scheme, not more than

crop rotations should be taken.

FHA <5k TEHAdT T & gl
Formula of crop rotation intensity is
TR & % 1 & gl

Formula of cropping intensity % is

SiE) it o 21frek SusT 2ar B

Paddy gives more production in soil.

SAETE & TH- T8 &A1 o ToTT UTh et =156 ol

For Chhattisgarh Paddy- Wheat is suitable crop rotation for

arca.

BUATETE B HUTE- =1 &1 oh T SUYeh et =I5 gl
For Chhattisgarh Cotton- Chickpea is suitable crop rotation for

arca.

30

[1]



(ix) HHRRT- - T BAEG &t & foTu yefera o [1]
=Tk 2

Maize-Potato- Sugarcane is prevalent crop rotation for

area of Chhattisgarh.
(x) Y- AL BTG & &A1 o foTu Jarfetd woet =ik 2l [1]
Paddy- Lentil is prevalent crop rotation for area
of Chhattisgarh.
CIRSEERNPRE))

(Very Short Answer Type Questions)

TA -2  IcAe! O I BHA Ik § Haed fofau) [2]

Write the importance of leguminous crops in crop rotation.

TA—3  HHc Foh Sl THTTIT A ITct IS &1 I feTiay| [1X6=2]

Write any two factors affecting crop rotation.

A -4 HHA I & [Ugid fARIU| [2]

Write the principles of crop rotation.

A -5 U &l ThR il AT & T1fard 89 daieft BHel hl IR Ueh [2]
B Td § T ST =Ry =6

Crops affected by the same type of diseases should not be

grown continuously in the same field. Why?
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(FEqE o)

(Objective Type Questions)

T -1 few wamt &t gid Fifo
Fill in the blanks :

(1)

(i)

(iii)

(iv)

)

(vi)

AT +HRTS

gl &7 3T =)

Sorghum+ Soybean is an example of cropping.

“qET ST U hl T T o T ITIH T 2

“Pusa ageti” is suitable variety for dry farming of

crop.

U hl T Wl o A STIH e 2

“Padma” is a suitable variety for dry farming of the

crop.

U ZTEYTEEE TRH & T o ST S TR ST HehdT B

The use of anti-transpirant chemicals can reduce

WA 9 AT B shl S ATSAT o s | forste 7

LI KT TR

Moisture should be conserved by spreading in empty

fields or between two rows of crops.

y

HHA ol Y[ Wil o feTT Sugeh forer 2

“Modern” is a suitable variety for dry farming of

crop.
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(vii) Al adiar- seem HE T 3T 2
Eucalyptus- Papaya- Berseem is an example of
cropping.

(viii) TS oh ET SAR AT T aTET 2

Growing of Sorghum with Subabul is on example of

(3t o1 3T we)

(Very Short Answer Type Questions)

T -2 THIHRE T R? [2]
What is Agroforestry?

T —3 Tl SR 3T SHHER HEet ST T 82 [2]

What is relay cropping or sequential cropping?

TA— 4 STSATUT SHITUT 3T TTAR FH ST AT 22 [2]

What is overlapping cropping or continuous cropping?
-5 fafsre @dt o @ fafan) [2]
Write advantages of specialized farming?

TH -6 THiHT Ot § I I E U] uTe ST R 82 [2]

Which animals can be reared in mixed farming?
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TS — VI

(Y I T2)

(Short Answer Type Questions)

aq-1

A -2

T3

T -4

TAq-5

THT-6

o TS et ITET hl foREHT shl SIS {SRIdT o T foTfau

Write the reasons for the popularity of short-duration pigeon

pea varieties.

T T T TUT SATHIG oh oTT T T IR S~Iasiiet foheH T oh ATH
fIRam)
Write the importance of chickpea and the names of four high-

yielding varieties of chickpea for Chhattisgarh.

LS ol TEe o1 Hecd Uel &l W =07 sht war # fafay

Write the importance of sunflower crop and briefly mention
two disease control methods.

el o1 3 &) rrei et e dv foeron o ferfay

Write any two propagation methods and disease control of
Basil.

R 5 0 €1 3 e 6 1 e 35 e B

Write any two diseases and any two pest control methods of
Mint.

A e TREH oh 3cdTa oht T st da # foafae

Write in brief the methods of production of white button

mushroom.
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[4]



Sor—7 G b el e i ferfa

(3) AR ATH o el (&) e
CIESEIRER T (%) 3= fepest
(3) 30T /eI

Write about Mint cultivation under the following headings:

(a) Botanical name and family  (b) Importance

(c) Climate and soil (d) Improved varieties
(e) Yield per hectare

So_8  qerel oGt e e R
(37) AR ATH o e (&) et o
CENERCRIT (T) 3-1d foret &

(3) ST /EHTT

Write about basil cultivation under the following headings:

(a) Botanical name and family  (b) Medicinal properties

(c) Climate and soil (d) Names of improved varieties

(e) Production /hectare

Sor— 0 S B St 1 P e Frfae

(31) S SfTferat () TS b1 §H T SIS
(@) A (3) TS 1 AT

(3) I /TS

Write about Berseem cultivation under the following headings:
(a) Major varieties (b) Sowing time and seeds
(¢) Soil (d) Harvesting time

(e) Yield /acre



G ELMERE))

(Long Answer Type Questions)

TUH 10 9 hH Tl T 77 fident # feafigu-

oA -11

(37) S[TS hl ST farfer S ERLEILR
CEREIRS GBEISIEEL
(3) @TE Td 3k (%) HEd

Write about Rice cultivation under the following headings:

(a) Beushening method of sowing  (b) Improved varieties

(c) Climate (d) Seed treatment

(e) Manure and fertilizers (f) Importance

TR hl Wit ohi T 3fident H ferfigu-

(3) A creh A9 Te e (&) SIasie fohed
IS (@) S

(%) SIS h T () wEe

Write about Pigeon pea cultivation under the following headings:
(a) Botanical name and family (b) High-yielding varieties
(c) Seed rate / hectare (d) Seed treatment

(e) Sowing time (f) Importance
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(TS T9)
(Objective Type Questions)

U -1 G et 96T

Match the Columns:

W& LS RRCH
(i) = |TET (37) wiRreror fRrfer, samEaT
(i) eF A (&) TH, TR
(iii) =T 3T AT () AT I, TATHH
(iv) SafwTd gush (%) FATT IS, BT
(v) W Hueh (3) i, g
Column 'A’ Column 'B'
(1) Audio aids (a)Training Camps, Lecture
(1) Visual aids (b) Songs, Slogans
(i11) Audio Visual Aids (c) Personal letter, Telephone
(iv) Personal contact (d) Flash card, Cartoon
(v) Group contact (e) Television, Drama
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(3t o1 3T o)
(Very Short Answer Type Questions)

A -2

qq-3

T -4

qAq -5

TA-6

foram et & <1y Ty

Write the drawbacks of Farmer fair.
YT 3 3 ferfau)

Write the drawbacks of tours.
wef¥f & 9 fefen)

Write the drawbacks of exhibitions.
Y TR BT o Heed fofeay)

Write the importance of Agricultural extension services.

1Y THR k! & Facd faTRau

Write the importance of Agricultural extension workers.
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RS — VIII

(3Ffar o1y 3w )
(Very Short Answer Type Questions)

TH—1 IR 5 TS T e T et oo &2

Where is Shaalimaar Maitri Garden and Mughal Garden is
situated?
TH -2 A AT &t o T fafay |

Write the name of floral plant.

TH -3  JIEA IUM UG feHohel e el feord 82

Where is Vrindavan Garden and Botanical Garden situated?

TN —4 T IR T 22

What is kitchen garden?




g -5 BT g i fomivand fafigu | [5]

Write the characteristics of Lawn grass.

A -6 UM oh foris rehvont shi ftferiad foiget 4 forfg) [1x5=5]
(31 iy (@) SEE
(%) T (%) BET
(3) SR

Write about the special attractions of a garden under the
following points:

(a) Topiary (b) Bonsai

(c) Pergola (d) Fountain

(e) Reservoir

TH -7 T IS Il shl HherdTgash @l i o foIe e oo i s [5]
fafan)
Write the points to be consider for successful cultivating of

Annual plants.

TH -8 T[T ! Wt bl T Sfiefehi o fetRae- [5]
(3) A creh A9 T e (&) T STt
(&) ST farfemt (T) TS BTS
O EIACRERED

Write about Rose cultivation under the following headings:
(a) Botanical name and family  (b) Major varieties
(c) Propagation methods (d) Harvesting and pruning

(e) Pests and control



TH -9 Tic hi Wl vl [ ¥fideni § ferfaw- [1x5=5]

(3) A iR A9 Te el CIRNEIR!
(¥) T (3) ¥1fer Sor ey
(%) ST

Write about Marigold cultivation under the following

headings:
(a) Botanical name and family (b) Climate
(c) Soil (d) Land preparation
(e) Propagation
TH-10 BTt it = e St it i ga o fafa) [5]

Briefly describe the methods of planting lawn grass.



3hTS - IX

(3Ffar o1y 3w )
(Very Short Answer Type Questions)

aq-1

Tq -2

aq-3

T -4

A5

foa Tafar s/ 22
What is tip layering?

forfrae onfwer s 22

What is veneer grafting?

ST ot .7 27
What is tongue grafting?

U HTTTR I T 27
What is patch budding?

What is I- budding?




G —6 3TN o qoTTedt o forey o e feigat o ferfaa-

(3) 3¥f (@) et

(w) fafer

Write about the top working system under the following
points:

(a) Meaning (b) Diagram

(c) Method

T -7 G | AT o SRS ©: ®U1 ! 98T 1 foriag)

THq -8

AT -9

Write in brief any six forms of division in plant.

3T #hl Wit #hi e feigatt o ferfae-

(37) AR ek AT @) FA

(§) ST (@) A

(%) 31 forei (%) Tehid i Bl

Write about Mango cultivation under the following points:

(a) Botanical name (b) Family
(c) Propagation (d) Soil
(e) Improved varieties (f) Alternate bearing

S hi Wt ohi (T foigati 7 feafgu-

D

o
CHEIRLSIGERIE @) FA

(T S g JERT (3) 3~1d fored

(3) GET T (%) TET o 1 F T

[3X2=6]

[1X6=6]

[1X6=6]

[1X6=6]



A -

10

Write about Guava cultivation under the following points:
(a) Botanical name (b) Family

(c) Propagation by mound layering  (d) Improved varieties
(e) Wilt disease

(f) Names and times of blooming seasons

IS 2l et 2l e feigart o ferfae-

CIERSIREEI RN

CEREIR! (T) 31 fere

(3) Serei farfer (%) 3T

Write about Cashew farming under the following points:

(a) Botanical name (b) Family

(c) Climate (d) Improved varieties

(e) Propagation methods () Yield

[1X6=6]



(FEqE o)

(Objective Type Questions)

TH -1 EE SIS TR :
Match the Columns:
'R’
(i) e
(i) feergwm
(ili) AR
(iv) fesamadt
(v) &d

Column 'A'
(1) Jelmeter
(1)) Dehydration
(i11) Tomato
(iv) Canning

(v) Squash

W' g [5]
(37) HTE T =

(&) H

(T) T T U Y qr

() Bl <Rl HRA ST g@HT

(3) 2% THF T TA

Column 'B'
(a) Sauce or Ketchup
(b) Orange
(c) Amount of pectin in juice
(d) Drying of fruits in machine

(e) 2% salt solution



(3t o1 3T o)
(Very Short Answer Type Questions)

TN -2 Wfestdl ol fesaTeia H THeh T Tt AT JANT H AT STl 82
Why is Salt solution used in canning of vegetables?
TH-3 R HTR?
What is canning?

U —4 Sl S H T ST hisAsa T fIigu

Write the difficulties faced in making jelly.

GRERMERE)
(Short Answer Type Questions)

gH—5 379 FoheHIet g Seft IR B Y ug= 8 wan fafay)

How will you identify the readiness of jelly using a
refractometer? Write.
TH— 6 I Sicil ohl ToRIaTy feTiaw)
Write the characteristics of excellent jelly.
Sor—7 et i ) e
Write the characteristics of ideal jam.
T -8 IR TS 8 o R0 fAfau) (75 4)

Write the reason for spoilage of pickle. (Any 4)
UH -9 SHH B aTelt @Us fdkau)

Write the defects that occur in jam.
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WUTEAA, g“%T , Ay U hahe UTeTd
Animal Husbandry, Dairy Technology,

Fisheries and Poultry

Ie . FH T STEIT FHeF % HTER & I 71T |

Write the answer according to the marks allotted to the question.

(FEIE o)

T - 1

(Objective Type Questions)
TA-1 TE (37) et forehew gem forfag -

Part (A) Choose and write the correct option :

(i)

(i)

e 5 9 forg 20 ame & Wi <l 5T waitees gl 2 -

(31) &% () =
(|) TR (3) Tesohr

Which of the following green fodder contains the highest

amount of protein -

(a) Oats (b) Berseem
(c) Maize (d) Rizka
ST H R foreTfi 2 -

(37 faafimw @) foerftmsfh
@) foerfmEr @) foeftma
Water soluble vitamins is -

(a) Vitamin A (b) Vitamin B
(c) Vitamin D (d) Vitamin K
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iii) & Sige T wad f frem 2 -
o\

(iv)

(V)

(vi)

(31) Hefehl (&) SdR

@) S @)
Pusa Joint is a variety of the following crop -
(a) Maize (b) Sorghum
(c) Berseem (d) Lucerne
My <l et & & a6t ot fgemrsft e 2 -
CIRINEIS] () e

(@) =i (@) <o
Which of the following is a dual purpose breed of cow -
(a) Sahiwal (b) Sindhi
(c) Haryana (d) Deoni
AT foherehT HeT €T 2 -

CORINEIS] @) <o

() ATIRH @ Ffr

Montgomery is the origin of -

(a) Sahiwal (b) Deoni
(c) Tharparkar (d) Gir
et e AT E -

(37) wE (&) <adt
@) S (T) ™

The foreign breed of cow is-
(a) Karan Swiss (b) Deoni

(c) Jersey (d) Kangyam



(vii)

(viii)

(ix)

Y] 1 SRR T SR R Iq & - [1]

(30) T @ FE

@) eTg @) ¥R

Feeding is done on the basis of the following -

(a) Breed (b) Height

(c) Length (d) Weight

oo o 8 ST i BT - [1]
() 253k (&) 30 3

(@) 50 3H () 100 37k

The maximum marks in the score card is -

(a) 25 marks (b) 30 marks

(c) 50 marks (d) 100 marks

3= HTgAST T 1T A BT R - [1]
(3N) 4.89 ek (@) 4.5¥48

@) 42945 @) 3.594.1

The pH value of good silage is -

(a) More than 4.8 (b) 4.5t04.8

(c) 42t04.5 (d) 3.5t04.1

T M S AT T Bl | - [1]
(31) 42 60 9fd fame @) 729859 fime

@) 92 ¥ 100 9 e @) 102 110 fd fime
The pulse rate of a healthy cow is -
(a) 42 to 60 per minute (b) 72 to 85 per minute

(¢) 92 to 100 per minute (d) 102 to 110 per minute



Tq -1 @ () few wami hr afd Hifsg

Part (B) Fill in the blanks :

(1) TIERTTRRTATTATT <o TATE |
The temperature of a healthy COW 1S ......ccccvvvivviiiiiiiieeiieee,
(i) T T DG B TAT e, T T ITAT
FAT |
The weveeeeeeeee e, instrument is used for piercing

(ifi) TR HROT TRIHT BT .oooovveeeereec e o HH

Docking machine is used for cutting the

........................................ of animals.
(iv) 3T T FET FTATATH .ooovvvvennrnronnsersrereenn FEd g |

The dry state of ginger is called ..........cccceevriiiiiiieiiens

(v) ST R BT ST oo T fopam SITaT Bl

Burdizzo castrator 1S uSed 1N ....oeueveeeeeeeeeeeeeeeeeeeieeeeennn.



(3t o1 3T o)

(Very Short Answer Type Questions)

A -2

T3

T — 4

A -5

THT-6

aq-7

T8

Tq-9

T -10

T -11

Y] HTEN o gd § 2

What is animal ration ?

Hferd SRR fordl Fed & 2

What is balanced ration?

3cqTeT AR ford FEd & 2

What is production ration?

S STTER fohel shed © 2
What is reproductive ration?
3TeSt ATER fohdl FEd & 2
What is ideal ration?

TTSTISt ht TS foTRae |
Write the definition of silage.
@ i afum fafaw |

Write the definition of “Hay”.

‘g fordl shed © 2

What is “Silo”?

What is “Siloing™?
“gamafer fafer ford shed § 2
What is “Soilling System”?
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T - 12

TAq-13

oA - 14

A 15

TA-16

aAq-17

aAq-18

aAq-19

qx] IR H TaTE A8 o e fetfay |

Write the functions of maintenance ration in the animal body.
Y] HTER H U1 o g i faflan |

Write the main functions of protein in animal ration.

aRTAT i Forf¥=T T 8 HTER shl HATILIHT &1 Bl © |

Why do animals need feed for various purposes.

Teh 1T SRkt 9 500 fehedTom & Sifeh 9 wiet ger Seutet wietfe
AT 8, AT 1 o o 17T I e STk waTef shl Wislt J1d hifry |

A cow whose weight is 500 kg produces 9 liters of milk per
day, then find the amount of grains and dry matter for 1 day.

TS S o T fAfaw | (1S 4)

Write the benefits of making silage. (Any 4)
3% 0T AT 27 o 7T, AT ST A1aT | (F1S 4)

Write the essential things for good quality “Hay”. (Any 4)
“¥ o Yo i forega &9 # fafaw |

Write the types of "Hay" in detail.

N N N

UL hl TE T o fTT sAraregh ofrd foifag |

Write the essential things to keep the animals healthy.

[4]

[4]

[4]

[4]

[1X4=4]

[1X4=4]

[4]

[4]



TH—20 TTEaTe quT T Teet Y T 3 Scdfer T qer i fasiward [2+42=4]

feflan

Write about the origin and physical characteristics of Sahiwal

and Gir breed of cow.

TH 21 HU T el e T shi A o Seaftr T ot TR fRidad [2+2=4]
fafew |
Write about the place of origin and physical characteristics of
Murrah and Neeli Ravi breed of buffalo.
(ETel I T)
(Long Answer Type Questions)
22 “UYATAT U 2Rl e feigat o fewuft ferfi - [1X5=5]
(37) T A () TR
(9) T&07 () U=
(3) Foepror
Write notes on the following points about “Rinderpest
disease” -
(a) Other names (b) Etiological agent
(c) Symptoms (d) Treatment
(e) Control
23 AT @R ok b T feigat ot fevqoft fetfiae - [1X5=5]
(37) T A (&) TR
(®) & @) e
(}) STAR
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Write notes on the following points about “Black quarter

disease” -
(a) Other names (b) Etiological agent
(c) Symptoms (d) Diagnosis
(e) Treatment
T 24 TP YT oh ol {1 foigat o fewoft forf - [1X5=5]
(37) =T T (&) UTRTh
(¥) &0 @) Fem
(8) ST=R

Write notes on the following points about “Anthrax disease”-

(a) Other names (b) Etiological agent
(c) Symptoms (d) Diagnosis
(e) Treatment
A 25 G S T bl Foe Feiget oe fevauft ferfa - [1X5=5]
(37) = | () UTRTh
(¥) &0 @) fem
(8) ST=R

Write notes on the following points about “Milk fever

disease”-
(a) Other names (b) Etiological agent
(c) Symptoms (d) Diagnosis

(e) Treatment

TH 26 U SAie shl fofvr= forferar ol forega w9 4 fetfian | [5]

Write in detail about the various methods of animal testing.



IR ||

(FEqE o)

(Objective Type Questions)

TH-1 TS () Gt forshed e o :

Part (A) Choose and write the correct option :

(i) g T ATUeTeh Sffedl Tel fohall SITAT & -

(31)  HT AUET I (@) AR F

(F) SIIFHIE g @) T

The relative density of milk is determined by -

(a) Cream separator (b) Lactometer
(c) Butyrometer (d) Churner
(i) =T oeqor | forer I oht ST TR ST © -
(37) hIT AU (¥ TamiR
(@) SHTIHI (@) TR
Which instrument is used for fat testing -
(a) Cream Separator (b) Lactometer
(c) Butyrometer (d) Churner
(iii) 7o forfer o T § SewR{{e Stret fofar ST € -
(3) 10c.c. (&) 11c.c.
# lc.c. () 9c.c.

In the Gerber method, sulphuric acid 1s added -
(@) 10c.c. (b) 11c.c.
(c) lc.c. (d) 9c.c.
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(iv)

(V)

Tt T O AT Uoehled fom Sirar @ -
(3) 10c.c. (&) 1l1c.c.
# lecec. () 9c.c.

In Gerber method, amyl alcohol is taken -

(@) 10c.c. (b)y 1lc.c.
(c) lc.c. (d) 9c.c.
T R T ST TohaT ST 2 -
(37) HHRGH 3 L o T (F) THER o o foTg
(@) g fee (@) ST welt
Butter worker is used for -
(a) solidifying butter (b) making it granular
(c) flavouring (d) all of the above

TH -1 @ () frem v i afd Hifeg
Part (B) Fill in the blanks :

(1)

(i)

(iii)

(iv)

Dazy glassis atype of ......coocviieiiiiieiiieeiee,
T H BhIH TTH ST o TTT .o SR LA & |

[1]

[1]

[1]

[1]

[1]



(3t o1 3T o)

(Very Short Answer Type Questions)

TH -2 SYIHIE % TohT feATET |

Write the types of Butyrometer.

TF -3 T [T § YT B et STa9aeh gt o 91 fefigu |

Write the names of the essential materials used in Gerber

method.

TH—4 T JhR o A feafgy |

Write the name of the type of butter churner.
TH—5 T TorL hl AT [IRAT | (TS 2)

Write the precautions of butter worker. (Any 2)

qq -6 g?ﬂamﬂ%ug{{gmﬁwéﬁéﬁmwwﬁﬁ%m

Write the precautions to be taken while maintaining milk

strainer.
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(@ 30T )

(Long Answer Type Questions)

TA -7  AFRHIE T A avi fafae v wdt daemie ST aa it [2+4=6]
kAT oh! fTRaT |
Write a pictorial description of lactometer and write the

procedure for taking correct lactometer reading.

TH -8 SFISUHICY TN Hid TH forfse et forfy | [6]

Write various precautions while using butyrometer.
TH -9 TR forfer ol wrHT=r e ol fafiay | [6]
Write the common errors of Gerber method.

TH 10 sHIH YU A1 oh T B ST o1 (AT | [6]

Write the necessary things for maintenance of cream

separator machine.
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gahTe — 111

(TS T9)
(Objective Type Questions)

TH-—1 TE (37) T AST T80 :
Part (A) Match the Columns:

1. W '& wWa'q’ [1X5=5]
(G) - (3 5T 15%T@n
(i) - @) 8¥12%dHm
(iii) wHEA - (| 99.5% =91
(iv) TEashid - (@) 25W30%adr
(v) e - () 80% T
Column 'A' Column 'B'
(1) Ghee - (a) 5to15% fat
(i1)) Cream - (b) 8to 12% fat
(i11) Butter - (c) 99.5% fat
(iv) Ice Cream - (d) 25to30% fat
(v)  Shrikhand - (e) 80% fat
2. W w T [1X5=5]
(i) s e - () =3 ufbers
(i) 9™ &1 U=T - () TRGH 33 HT I
(i) BT - @) WA
(iv) EH g™ - (@) SafaTw
O BEELEIR ST - () e TR
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(i)

(iii)
(iv)
(v)

(i)
(ii)
(iii)
(iv)
(v)

(1)

(i)

(iii)
(iv)

Column 'A'

Yellowness of Ghee

Betel Leaf

Scoop
Flavouring in Ghee

Storage of Cream

;ﬁ%mﬁﬁagﬁ%ﬁﬁ
el Srfershad et

Column 'A'

Butter
Kulfi

Milk Powder
Sugar in sweetened

condensed milk

Maximum moisture in

milk powder

(b)

(©)
(d)
(e)

(%)
C)
()
()
®)

(a)

(b)

(c)
(d)

Column 'B'

Diacetyl
Butter Lifting
Machine
Carotene

5°C

Ghee Refining

wWy'g!

ferierd <ot 318
=9 IR S IS
40%

3%

T ST ScaTg

Column 'B'

Frozen dairy
products
High fat dairy
products

40%

3%

Condensed dairy

products

[1X5=5]



(i)
(i1)
(iii)
(iv)
v)

(i)
(i1)
(iii)
(iv)
v)

(1)
(i)
(iii)

(iv)

W&
heret g qeTe
Fhl 7 =T
fetiega gy ot
T | 9T hl JTT
fenfvere grer qaref

Column 'A'

Dairy products only
Sugar in Kulfi
Frozen dairy products

Fat content in Softy

Fermented dairy products -

T 'h

SRR CRCEIEIR I
e[l H ST sh HET
TS gerfr ger o <A bt
HHEAT

UICEXCRINSEZIE ]

99 o Y H IS

- (3
C)
- (3
-
- (®

- (@
- (b)
- (0
- (d)

(e)

- (3
- (@)
- (®)

- @
- ®

Column 'B'
3 to 6%
Curd

18%

Ice Cream

Softy

wWI'q’
26 fasra
48.96 gfasrd

48 .43 gfasrd
25 gfasra

[1X5=5]

[1X5=5]



A -2

aq-3

A — 4

TAq-5

TT-6

Column 'A' Column 'B'

(1) Fat content in condensed
milk

(a) 26 percent

(1)) Fat content in milk

(b) 48.96 percent

powder

(i11)  Sugar content in - (c) 9 percent
sweetened condensed
milk

(iv) Lactose in cow milk - (d) 48.43 percent

(v) Lactose in buffalo milk (e) 25 percent

SHIH T aEfTeRto feTaT | (3T 2) [4]
Write the classification of cream. (Any 2)

h1 fiehTer shY STehsir farfer o forgia w fewoft faRaw | [4]
Write a note on the principle of centrifugal method of

extracting cream.

HeFGH ST hl fafer=T fafert ot fewooft frfaw | [4]
Write a note on various methods of making butter.

= ST T € T A 9T fAfRae | (1S 4) [1X4=4]
Write the things to be kept in mind while making ghee. (Any 4)

el s ot feheeit 21 ferferart =nt fetfia | [2+2=4]

Write in brief any two methods of making milk powder.



aq-7

T -8

Tq-9

AT -10

oA -11

“Hepg” I Teoquft feafae -

(37) i () "o

Write notes on “Butter” —

(a) Definition (b) Composition
eefp o Fovaoft ferfr -

(37) qieTT () Hered

Write notes on “Ghee” —

(a) Definition (b) Composition
S o foft ferfiae -

(37) qieTT () Hered

Write notes on “Cream” —

(a) Definition (b) Composition
gt et e

(37) i () "o

Write notes on “Milk powder” —

(a) Definition (b) Composition
“STEhIA T OX fequft forRaw —

(37) TUESIA () BHSHIESIIH

Write notes on “Ice cream mixture” —

(a) Pasteurisation (b) Homogenisation

(F) YSIOT

(c) Storage

(®) YSHOT

(c) Storage

(®) YSHOT

(c) Storage

(®) IS

(c) Storage

(¥) G

(c) Strengthening

[2X3=6]

[2X3=6]

[2X3=6]

[2X3=6]

[2X3=6]



ECTER Y

(TS T9)

(Objective Type Questions)

TH-1 T () T fowew g ferfag -

Part (A) Choose and write the correct option :
(i) T IR T U Uell 3fersha 37 ol & -

(31) S50TIRY | AN (@) 2AEH 3 AE

@) 80 TR Y 3 AME (3) 5ATE W 3ATeh
The maximum number of eggs a fish lays at one time is -
(a) 50 thousand to 1 lakh (b) 2 lakh to 3 lakh

(c) 80 thousand to 3 lakh (d) More than 5 lakh

(ii) U IS § FHacdl TSl ol I alal & -

(31 1 framm @) 2 framm

@) 2.5 forerramy @) 750 U™
The weight of Katla fish in one year is -

(a) lkg (b) 2kg

(c) 25kg (d) 750 grams

(iti) T Y H U TS HT a9 QAT & -

(3 0.25 frarum @ 0.5 foraumm

@) 1.5 foreram @) 2 foretmm
The weight of a Rohu fish in one year is -

(a) 0.25kg (b) 0.5kg

(c) 1.5kg (d) 2kg
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[1]

[1]

[1]



(iv)

v)

T Y <hl UTE 0 ASeAl T oI BT © -
(31 0.59 1 foraiumm @ 1.592 framm
@ 2.593 framm @) 4 Toratmmm

The weight of a one year old grass carp fish is -
(a) 05tolkg (b) 1.5t02kg

(c) 25to3kg (d) 4kg

TSl T IS ShTed BIT & -
(37) 1929w @) 4¥590
@) 8T 109w @) 18¥0e
The breeding period of a fish is -
(@) 1to2 hours (b) 4 to 5 hours

(c) 8to 10 hours (d) 18 hours

[1]

[1]



TA-1 T (F) Tw ot &y g i

Part (B) Fill in the blanks :

(1)

(i)

(iii)

(iv)

v)

ST oh TSI 6 TAT oo °C qTI5hH I BT & |
For breeding of fish, the temperature used is ...........ccceveeneee. °C
EE T R K ) | SfcreTd 7 Bt 2

The amount of water in fishisup to .................. percent.

TR TS 3BT SR A oo g

The scientific name of Mongri fish s ........ccooiiiiiiniiininne.
BT ETG Ren WG L R RC i SO CERGIR
The weight of Mongri fish in 1 year iS up to .....ooceeevveenicennen.
T T T H BT ST H oo gl

India has a

world.

.....................

position in fish production in the

[1]

[1]

[1]

[1]

[1]



(3t o1 3T o)

(Very Short Answer Type Questions)

T -2

aq-3

T -4

TAq-5

THT-6

e U shi giemeT feafigu |

Write the definition of fish farming.

TqTATS | UTT ST ST T3k A (A o A9 fARgu |

Write the names of unnecessary fish found in the pond.

ATATS H HTC ST aTet Hieeft Agferal o 919 fiTia |
Write the names of carnivorous fish found in the pond.
fefi fort hea € |

What is stripping?

TATATS | UTT ST 9T BT{Heh ek hiel oh 19 feIfgy |

Write the names of harmful insects found in the pond.

67
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-7 = asfer &1 avi Fifse - [2X3=6]
(37) A () T () A

Describe the following fish -

(2) Mrigal (b) Grass carp  (c) Mongri
-8 fafafad msfamt & agnfes am _ [1X6=6]

(30 TE. (¥) e (W) T

() TTE h1d (%) TH Y (%) faear =

Write the scientific names of the following fishes -

(a) Rohu (b) Katla (c) Mrigal
(d) Grass carp (¢) Common carp (f) Silver carp
u -9 Tl wsferEt o urer o geaiom fafay | (i 6) [1X6=6]

Write the ill-effects of rearing of foreign fish. (Any 6)

TH—10 TSAAT o Tl TR o SATERT ol fofqd &9 € T | [6]

Write in detail about the different types of diets of fishes.
TH— 11 T S oh Tl el s foaeqa €9 9 fafau | [6]

Write in detail about the different stages of fish seed.



ECIERY

(FEqE o)

(Objective Type Questions)
TH-1 T () T fowew g ferfag -

Part (A) Choose and write the correct option :

(i) WMATHAETACR - [1]
(37) <1 () <4
(| T (@) "o
The cheapest source of protein is -
(a) Pulses (b) Milk
(c) Egg (d) Fish
(i) 7T o 3102 T STEd TR BT & - [1]
(37) 583 () 48UMH
@ 68UM (@) 28UM

The average weight of a hen's egg is -

(a) 58 grams (b) 48 grams
(c) 68 grams (d) 28 grams
(iti) ok et T STHIIGT TeUrs fora 2 - [1]

(37) 13 TR @) 17 G

@) 9 T @) 18T
What is the approved depth of chick feeder -

(@) 13 cm (b) 17 cm

(¢) 9cm (d) 1cm

69



(iv) Tt e AT  Stet o T St © -
(3) 4UE (&) 5=
@) 6UE (@) 8HE

A hen starts laying eggs in the following months -

(a) 4 months (b) 5 months
(c) 6 months (d) 8 months
(v) T o T qTer ol 3w et & -

(37) TR fostad orrett (@) oS gomedt
(@) Fra far=ror gomeft (@) o qorredt
The best method of poultry farming in India is -

(a) Deep litter system (b) Cage system
(c) Extensive system (d) Battery system

TH-1 T (@) fw ot & ufd hifw

Part (B) Fill in the blanks :

(1) FST STET oo, foi = d Sea ST g |
A living egg turns into a chick in ..........ccccceeeeenens days.
(i) SHRERIH IS HITEAH .o, SR IeAHT AT |
In the incubator, the egg should be turned ........... times a day.

(ifi) FrISIT H SATRISH hI AT ..ooevvne gfereTd ek BT ATTRT |

[1]



(iv)

v)

(vi)

(vii)

(viii)

(ix)

(x)

The amount of oxygen in the incubator should be up to

....................... percent.

ST FrRISIET T ST ... U H AT

The first incubator was invented in .................... country

Teh aoi ST ST A & AT T AR T
STETIHAT B 2 |

To produce a dozen eggs, .................. grams of feed is
required.

“HhStT I v HFH AT S |

AT H 3T AT & % FR ......oo... SHATET ITe T Tl LT < |
Due to the absence of teeth in chickens, ................. works to
grind the feed.

et T 8 Rargahl s famm e T TR AT AT
In the poultry house, the direction of the window should be
towards .......ccoeeveeenneen.

LRI RS E KU RS C 11 1 BT e |

Chickens have "anti-eye disease" vitamin ......................

[1]

[1]

[1]



T -2 TSI Rl FEd & ? 2]

What is incubator ?

TH-3 SR FEd d 2 2]
What is brooder ?

X -4 FHefdn fha wad & 2 2]
What is candling?

TA -5  IUST ELEIUT o &TfOTeh 19 ST AT 2 | [2]
What is momentary heat treatment for egg preservation?

A — 6 T fohd had & 2 2]
What is hatching?

T -7 TS % YR o 9 faRau | (F15 2) [1X2=2]
Write the names of types of cages. (Any 2)

TH -8 Fahe ABN H FHeE5ge & T H i foafay | [2]
Write the main function of carbohydrates in poultry diet.

TH -9  FFhS TSN H W shl FHl & I A&l i faRag | 2]
Write the symptoms caused by protein deficiency in poultry diet.

T 10 Fahe | B dret o] Stia Tt st A fafa | 2]
Write the names of viral diseases that occur in poultry.

TH 11 FFH H B ATl Sfany] ST W ok 70 foeafay | 2]

Write the names of bacterial diseases that occur in poultry.



T - 12

TAq-13

oA - 14

AT - 15

TA-16

aAq-17

aAa-18

qAq-19

o -20

o -21

WA H 7T 9T ol #eed foiflay |
Write the importance of poultry farming in India.
VR H T AT o forhrel H hiF-ahi € aTad A7 82 €& H fiag

What are the obstacles in the development of poultry farming in

India? Write in brief.

31U T oh TIfe=IT o1 aviF RIS |

Describe the methods of hatching eggs.

TRISIE ST ST SR G forfarT et ot forfla |
Write various precautions while using incubator.

3T SISt ol foRivaTd faifa |

Write the characteristics of a good brooder.

ST FHBE T8 o ATV feTlaT |

Write the advantages of a suitable poultry house.
Tl fsrstad yuredt & =ifaat fafiau |

Write the disadvantages of deep litter system.

fosT yomTedt o @y forfaT |

Write the advantages of cage system.

T QT ol See Te s o 3U fofy |

Write the care and protection measures of diseased chickens.

TIEY e o el fofla |

Write the symptoms of healthy chickens.




GRERHERE)!

(Short Answer Type Questions)

T - 22

oA - 23

T - 24

“THTIA T AT ol T Tefgatt we fawgoft forfaw -

O

(37) WThRF () &0 (@) I R

(3) ST (3) Ushem

Write notes on the following points for “Fowl Pox disease” -
(a) Etiological agent  (b) Symptoms (c) Mortality rate
(d) Spread (e) Prevention

“SIE T U =k o feiget ot feouuft ferfi -

(37) TR () 0T (®) qJ T

(3) ST (3) Ushem

Write notes on the following points for “Bird Flu disease” -

(a) Etiological agent  (b) Symptoms (c) Mortality rate
(d) Spread (e) Prevention

“FertehTicTeh are U shi e feigatl ot fevqoft feifiay -

(37) T (&) A& (®) qJ T

(%) Tt (3) 3TN

Write notes on the following points for “Chronic Respiratory

Disease” -
(a) Etiological agent  (b) Symptoms (c) Mortality rate
(d) Spread (e) Treatment

74

[1X5=5]

[1X5=5]

[1X5=5]



oA - 25

TAq - 26

g 2 B et gt o feot forfre - (1X5=5]
(37) TR (&) & (®) qJ T

(?) e () 3R

Write notes on the following points for “Pullorum disease” -

(a) Etiological agent  (b) Symptoms (c) Mortality rate

(d) Spread (e) Treatment

30 AT ANk T I foeqa &9 @ faaRaw | [5]

Write in detail about the internal structure of the egg.




FHiW (HAT THT)

Agriculture
TS 1- ATTATITERT T UTEq Tt

95 l-f&ﬁmﬁqﬁﬁﬁq 1x5=5
() AU = A9 T o oI ... EIEKIRCEICRER I

T 2- TARTRT T 82 $6eh Y H IS IR Heed ffay] 2+4=6
T4 3- U187 IS 9T 87 36k ohis IR Haed fofray| 2+4=6
T4 4- HUST o SIRIATIA [HIH o ST TR o [-IH i GfotdR 9HesT 6
T 5- T H AT T GHd 82 =3I o [ Tohil o6l 9899 § g92130] 2+4=6
T 6- UT&T YT shl ShIH-ah4 ©f forferat €2 fopeel = forferat shr datd o i shifs)

2+4=6

76



3oRTg 2- = v oTa1- e

TS 1- BT shl STA- BT § 3719 AT FHSTd 87 2
57 2- TE=Ts & T e 82 2
94 3- STot- e fordt e &2 2
T 4- - AT § ST T THFId 272 2
T 5- BOCAT ohl Shilweh STTEAT T ATT T THEA &2 2
T 6- f=s o IS o 389 feafaw) 1x3=3
T 7- S-SR o 1S i Haed fetfam) 1x3=3
v 8- T=g o 18 o ol =1 e o faRay 1x3=3
T 9- STel- Terrer sht ohis = fafRr st gy o ferflay) 1x3=3
T 10- STA- HIT skl T i ST 1S o 19 hehl hl H&IT | ffgy) 1x3=3

77



$ERTS 3- 91- TSlETUT

5% 1- Teeh TAH1 3 gfd hifery 1x5=5
(i ) TUH=A hl TS ... hIe Tt 2l

(iv) PERTEH ............ YSITd 2Tt 2

(v) TSI = Sl TS 6T Bt 2
T 2- 9[- FAEIUT o g IR YA fafy 1x4=4
T 3- = ST Ta&T0T Y Shis IR araen=ar fafay) 1x4=4
T 4- Toh ST = & 820 Wi sht gL AT T3 It = <walts | 3 31 6w off| wreft

TS gl 2l T {efh TS ohl TUMT =hiTST| 1+3=4
T 5- o gRT GA&I0T § = o his TR Y fefay] 1x4=4

T 6- = A&7 H B ST qH S 9 1 g TR« [y 1x4=4

78



FRTS 4- THHE sk Tal IT6T AT

T 1- BOA =5k o s Ui fogid fefaw 1x5=5
T 2- ®O sk bl THIIT A T s Ui e fTRay) 1x5=5
T 3- IETShH AISHT okt Shed 82 T8eh I3 91 Hecd fofay) 1+4=5
Y 4- B <ok TRt shad 82 SdierTe | R & o feTu si1g i et =ish o Seretn

faTRam) 2+3=5

T 5- HHA Fsh o hls U Aecd feifgu) 1x5=5




RS 5- UTel T

o 0

T 1- He forehed e forfag -
(i) TRIqETATIT -

(3) HerrerT @) oft. @ 7,

(®)2,4-D () SI3ATZ-78
(if) FpETT &-

CIEIEISIEE (&) TR

@) i1, T, () 2,4-D
(iif) Srereft 2-

(37) HeATr—T (@) heH

() FEI-SITH (3) STEATZ-78
(iv) SISt ST=IR H Yh B STell BheTei &:

(37) 2, 4-D (3T) ATSTH

@) . = = (3) TUSHTH
(v) Tt & AT Shetar 2

(37) SISt (<) JaT 5

(|) BT g1 () U afl

TS 2- TTTR-TRIT hT SR 3Rl §HY €T o AT his i Saemi-ar faaRag)
T4 3- GUAAR fhH FEd &2 39 IS al Heed (A

T 4- 1T ok ATRTOT T HETT H 3T o6 |1 feT ey

W% 5- 91QY T o f1err 3t s o farfertt ot wei 7 forfiau

T4 6- shie i Y g ofF s fafertt s da o ferfay)

80

1x5=5

1%x3=3

1+2=3

1x3=3

1x3=3

1x3=3



ThTS 6- AT chl Tt

91 - G ferehed e fofag - 1x5=5
(i ) SIS <l Bl FhEaTd! 8-
(37) AYTHTAT FHA () YRGHIA BT
IR EIRIER (3) TTH | I8 el
(ii) &I ST ATTEafeh 7T 8-
(3) RicTu-orETTd ESIESIEEES]
(¥) TR (%) T
(iif) & ST O | STET ohl ST T BN aTeAT UT &-
(37) L et (&) HHRT
(W) g T (@) QU AT
(iv) ST TS UT & - Y HOet T Bt 2-
(30) T () TFHT
(¥) T (3) &
(v) Tft <t et &-
(30) T () =T
(®) 7 (3) s wt
T 2- Ttk T <Al g shife 1x5=5

(i) Tifhaeds s F ®a o ... KEDIURED IS K
(i) @A ......... 6T B H AT 2
(iti) TS THAT 6 FHA HIAM.......... H

(1v) STETET BT ITEITA AT ... 2l

(v) T o et T AM........... H

81



T 3- @O hl B Tohd hEd 87

T 4- Tl hl B hd FEd 22

T 5- SIS sl B [l FHed &7
T 6- T T IS & AT qTeqd 22
T 7- SNefiT wHet ford Fed 22
T 8- =T ohl Wl T IUM 7 I¥eht H HIfST:

(37) I foeh AT (&) FA
(@) ofa (@) et g ufa e
(3) ST Ifd

T 9- STIET T Wit BT JuiA T Iidept & <hifsre:

SIS IREEI (&) FA
(¥ it (%) fe=g
(3) 3T Ufd TR

T=10- TIgeh! Wit o Ui {1 TiNehT H hifSTT:
(3) STTEdfereR =TT (&) T
(®) 9 (%) T
(3) 3T Tfd T

T4 11- 7T <l U fordl g €2 ST TaH | 3h1s 91 Ay ferfa)
T 12- {3 qEcA 31 Wl 31 qui {0 2ieni 7 hifsT:
COEIRISIRERIE (&) T
@) 9 (T) SfisT ST Ifd g
(3) 3T Ufd TR

1x5=5

1x5=5

1x5=5

1+4=5

1x5=5



O\

T13- 1 %1 et o1 o e feigatt § quemsu:

(3) TTEdfereR T (&) T
@) 9IfH (T) SUST fd TR
(3) T (TS TH =) (%) 1T (1S T )

T 14- 7T 6 @t &7 Jui f ?«igdﬁﬁ HHATET:

(37) AT TR AT (&) T

@) 9fr (8) st 2T fa g

(3)3U Ifd 3R () T (TS Tk TH)
T 15- Hefeh! =kl Well a1 (i 3T feigatl o wwresw:

(37) ATEfeh T (&) FA

@) 9fr (3) ST 3 i B

(3) ST Ifd (%) TT (IS T 7TH)

T 16- Al oh AU T FHAT o A1 T b T & Feafag
T 17- Hhe qEeT S e o ety wecd iy

1x6=6

1x6=6

1x6=6

3x2=6

3+3=6



FoRTS 7- HY TR TaTl

51 - Wl forehed e forfam

(i ) N AR TaTetl H g9 TTe -

(37) e () Suferte

(W) T (%) ST
(if) Y SR T TS T 2o Te -

(1) e (@) 29 e

(#) fhew St (3) TN HTE
(iif) GEGRI ST =T AT ©-

(A () A

(§) 713 39 () T4 | hIg T
(iv) ToheT TSR T o6 |TEM &-

(37) = () 53

(§) 713 39 () T4 | hIg T
(v) YATHYE T 3T |18 &-

(37) = () 53

(H) AF- () ST 9 IS el

T 2- T formIeg o g i 77 fetfag
T 3- TSgehdl o oIS di [oIiR1E 707 fetRag
TS 4- 3T W19 TR ThEd 82 3ok s &l SaTel folfay

T 5- 977 Gre fohl ohgd 82 3Hh his 2l SeTelvl fefRay]

T 6- T T Hrdehdi oh shis a1 07 ferfiay)
84

1x5=5

1x3=3

1x3=3

2+1=3

2+1=3

1x3=3



RT3 8- TYTATA

1 - T forehed et ferfa : 1x5=5
(i ) GUTE & -

(37) femelt () T

@) i () S @t
(i) T T el 2-

(37) fermy (37) Sfrermy

(W) FIH (%) 0 © S T
(iii) TYHHET T B-

(30 9% () TR

() T (3) 75 § g T
(iv) AT T BIAT B-

(3 feremy (&) FF

(W) it (@) 7 & T
(v) T i S{ta e 8 M o1 = iet-

(@) 1 fermm @) 1.5 frm

(#) 2 feram (@) 2.5 fopmmr
T 2- I SRt (Tl it Suifar ferRan) 4
T 3- AT ULl o IS TR A& fTRay 1 x4=4
T 4- <G T e ot T | Rl 9w 3iar fafay) 1x4=4
T 5- WTEIAT T st his 91 AR fomeard fefan) 1x4=4

T 6- T[T ! UM ST 6 2hig 9 3T feAfay) 1 x4=4

85



% 7- N, IR T AT ST H UIAT 1 s Uil Hacd e § faRag)

1x5=5
T 8- UR] HTEW 31 GRATT TR oI 56eh 2hiS =R Tk ohT H&Td | UM HifSTy]
144=5
TS 9- TITEST T o U -+ THTSehi TX ShITSTT: 1+4=5
(37) T HTH
() SIS TR T o AT
T 10- TTeTEE T 3T 90 (= Feeh! T hifsru: 1+4=5
(37) TT HTH
() IS TR T & AT
T4 11-AeT TAT T JUi [+ HTSehi 9T ShITSTT: 1+14+2+1=5
(37) T T T
(<) SHE TET (3T )
CIRERIERCKCEIC

() U= (1S )



SohTS 9- T STHT

51 - Wl forehed e forfam

(i) Tt & 8T Al SAred JTT Sl 2-
(3)10% () 20%
(@) 30% (@) 40%
(ii) = & ST <t 7ET et 2-
(31)19% (&) 90.5%
(@) 95% () 99.5%
(iii) <& § Sfrer STt shl 7T Bl 2-
(37) 18.5 Hfawma () 80.5 UferTa
(H) 85.8 Tfasra (3) 88.5 Ffara
(iv) @ 8 qrt Y 9 Bt 8-
(31) 10 ¥ 15% (&) 159 20%
(T) 20 ¥ 25% (3) 25 T 30%
VECEESEITIEINCIES
(37) 18.5% (&) 80.5 %
(H) 86.9% () 88.9%
17 2- Tk Tt ot g hifor
(i) 381 9 TE ST o foTe 58 2t ol T s E S ..
(ii) AT ... & forgid W 19 AT 2|
(iif) T AT ... % forgid W T T 2
(iv) TS I HSTHH & fagzad .......... I GIESIGIRS

1x5=5



T 3- TG FUHIST 3T AHifehRd < S8y

T 4- AFIHIST T iR =t 18T
T4 5- ShIT AT T 22

T 6- T T T aTeqd 27

T 7- TE W T AT 22

T4 8- T AT 22

T 9- W1 H T qTeqd 87

T 10- ST T 82

T 11- 381 2l g ferfa

T 12- G 3R g9 ¥ e feafay
T4 13- WS 54 i fafer fafag)
TS 14- @iaT oA aht iy faafaw)
T4 15- T8 s hT g fafe fafag)
T4 16- TR A i fafer fakag)
TS 17- © S i <=l fafer feafu)



STsh‘l'sc 10 shefeh & TTeAA LER R R IGE

51 - Tk T <Al g shIfo ;

(i) FEHFAA T A ...occooe. T 2

(if) SR T AT <.coovneeen T 2

(iii) TSA T NETHT AT ..o % Tk Bt 2l
(iv) SIS T 3 ................ % IS TS Tl &

(v) GRTAT ¥ THRE AT He & R ........... H
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